HEIAERX <FtE4> No.lDfEE

1. RO GERREMRE 72 E 0,

0.132 4+ 0.07y = —1.27
—0.07x — 0.05y = 0.77

(1)

0.60 — 0.2y = 1.2
—z+19y=-11.4

(2)

0.14z + 0.15y = —0.4
0.03z + 0.11y = 0.07

(3)

K4

—04xz — 09y = —4.5
—1.92 — 1.9y = —19

(4)

%

0.3z + 0.4y = 3.8
0.1z 4+ 1.6y = 8.6

(5)

—1.8¢z — 0.6y = —15.6
0.7t +14y =11.9

(6)

K

=29,
T =06,
rz=717,

y=1
y=>5
y=>5



(3)

EI AKX <EHE4>
1. WOFRERREME 72 X0,

—0.7x+0.7Ty =4.2
(1) Y

No.2 DRZE

K4
(1) 0.04x 4+ 0.02y = —0.12
—0.09z + 0.08y = 0.02
—0.8z + 0.4y =2
Eor=-2, y=-2
Eor=1, y=7
5 0.3z + 0.4y = 3.8
(g J0Tr 0Ly =05 0.1z + 1.6y = 8.6
0.50 — 1.3y = —2.1
Z.x=6, y=5
Z.or=1, y=2
0.03z — 0.15y = 0.57
—0.01z + 0.01y = 0.04 (6)
—0.22 — 0.03y = —1.74
0.13z 4+ 0.03y = 0.6
E.or=3, y=7T




HEIAERX <FtE4> No.3D@EE
1. RO GERREMRE 72 E 0,

0.2z + 0.9y = —6.4
~1.32 — 0.3y = —2.8

(1)

0.18z — 0.04y = 2.04
—0.04z + 0.17y = —1.42

(2)

0.05z + 0.06y = 0.41
—0.07z + 0.17y = 0.95

(3)

(4)

(5)

(6)

K4

0.02z + 0.05y = —0.31
—0.15z + 0.04y = —0.58

0.2z +0.11y = 0.31
0.14z — 0.12y = 0.02

0.09z — 0.04y = 0.85
—0.04z +0.17y = —0.53

y=-7
y=1
y=-—1



HEIAERX <FHE4> No4dDHEE
1. WOFRERREME 72 X0,

0.3z + 04y = 3.8
0.1z + 1.6y = 8.6

(1)

. r=6, y=>5

0.04z 4+ 0.05y = —0.1
0.182 4+ 0.07y = —0.14

(2)

—0.06z — 0.14y = 0.9
—0.197 + 0.17y = —0.83

(3)

K4

1.8z — 1.5y = —26.1
z+ 1.7y =8.3

(4)

—0.182z + 0.03y = 1.44
0.19z — 0.05y = —1.41

(5)

—0.052 + 0.1y = 0.45
0.092 — 0.13y = —0.51

(6)



HEIAERX <FtE4> No.b DfEE

1. RO GERREMRE 72 E 0,

—1.8¢z — 0.6y = —15.6
0.7c +14y =11.9

(1)

0.3z + 0.4y = 3.8
0.1z 4+ 1.6y = 8.6

(2)

—x— 1.7y =223
—1.82 409y =4.5

(3)

%

K4

—0.18z — 0.05y = 0.51
0.08z — 0.08y = 0.08

(4)

—0.06z — 0.14y = 0.9
—0.192 + 0.17y = —0.83

(5)

—04z -2y =0
—0.6z 4+ 0.6y = 7.2

(6)

y=-3
y=—6
y=2



